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Latin America Study Guide Unit 8/9-Government and Economics

1. What do Bolivia, France, Cuba and Great Britain all have in common? Unitary gov’ts


2. Describe a confederation.  Regional authorities (states, provinces) hold most of the power and are only loosely bound to the weak central gov’t (central authority, national gov’t)


3. Which type of government divides power between the central government and smaller units such as states?
federal
4. Which form of government puts the power of the government in a single person? autocracy


5. Describe the government of Brazil.  Presidential democracy, federal system


6. How is Brazil’s government different from the United States of America’s government?
18-70 year olds required by law to vote


7. What type of government does Mexico currently have?
presidential democracy,  federal system
8. How is Mexico’s government different from the United States of America’s government?
Mexican president elected for one, 6 year term
9. What type of government does Cuba currently have?
autocracy, specifically a dictatorship (claims to be a presidential democracy)
unitary
10. Describe the political parties in Cuba. Only 1 party – communist party
11. Describe a unitary government? Central government (central authority, national government) holds power and directs/tells regional authorities (states, provinces) what to do. Power goes out from the central authority. Characterized by or constituting a form of government in which power is help by one central authority.
11. How do people get jobs in a traditional economy? They do what they’ve always done, what their ancestors have done. Traditions are maintained. 


12. Describes the current economy of Brazil. 
In recent years, many Brazilian industries have become privatized. There is competition in most major industries. On the command side, the two largest banks in Brazil are government-owned, as are some major industries like steel, and there are still higher taxes in Brazil than in many other market leaning countries. The ownership of productive resources tends to be held by the small upper-class, with a large part of the population living in poverty. However, Brazil’s recent changes and its large scale participation in global trade places it more toward the market side of the continuum than the command side. It would fall between Cuba and Canada on the continuum. 

In Brazil, the overall freedom to start, operate, and close a business is limited by Brazil's rules and regulations. Starting a business takes about four times the world average of 38 days, and obtaining a business license takes more than the global average of 225 days. Closing a business is difficult. 

13. Which country has the least freedom to do business?
Cuba
14. What is specialization? “Do what you do best; trade for the rest!”

15. In order to help US car companies sell more cars, some people want to put a limit on the number of cars that can be imported from other countries. This is an example of a(n) quota

16. What type of trade barrier involves adding a special tax on goods brought into the country? tariff

17. What is an embargo, and give at least one example.

An order designed to stop the movement of goods. An embargo, issued by the government of one country, may restrict or suspend trade between that country and another nation.
A government may impose an embargo to hamper the military efforts of another government. For example, the United States prohibits the export of weapons to countries that sponsor terrorism. Sometimes a government imposes an embargo to express its disapproval of actions taken by another government. The embargo is intended to pressure the offending government to change its actions.

18.What was the main purpose of NAFTA?

NAFTA is short for the North American Free Trade Agreement. NAFTA covers Canada, the U.S. and Mexico making it the largest free trade area (in terms of GDP) in the world. NAFTA was launched 20 years ago to reduce trading costs, increase business investment, and help North America become more competitive in the global marketplace. 

NAFTA started as an agreement between the US and Canada, and then grew to include Mexico.  Over a period of several years, it eliminated tariffs and quotas on goods between the three nations.  The three nation agreement went into effect in 1994.

NAFTA was and remains controversial. There is no doubt that it has increased the competitiveness of the three countries involved on the global marketplace. This has become especially important with the launch of the European Union and the economic growth of China and other growing market countries.

On the other hand, NAFTA made it possible for many U.S. manufacturers to move US jobs to lower-cost Mexico. Since labor is cheaper in Mexico, many manufacturing industries moved part of their production from high-cost U.S. states. The manufacturers that remained in the US lowered wages for US citizens to compete in the Mexican industries.  Mexican industries have fewer laws protecting workers, so many factory workers experienced harsh conditions for low pay.

The second disadvantage was that many of Mexico's farmers were put out of business by U.S. government supported farm products. Mexico agribusiness used more fertilizers and other chemicals, to try to compete with cheaper US farm products, creating a huge increase in pollution. And rural farmers expanded into more marginal land, resulting in rapid deforestation, so many see NAFTA as harming not only US and Mexican workers, but also the environment.
18. Give examples of an investment in human capital?
education and training of workers whether formal or on-the-job
19. What is one reason for people to exchange currency?
Exchange rates provide a procedure for determining the value of one country’s currency in terms of another countries’ currency. Without a system for exchanging currencies, it would be very difficult to conduct international trade.


20. Why is it important for a country to invest in human capital? Healthy and educated workers are more productive


21. Give an example of investing in physical capital (capital goods) by a company.
upgrading machinery, tools, factories, technology, etc.

22. How does investment in capital goods by companies help a country increase its GDP?
makes companies more productive, more efficient, and more able to compete successfully

23. How does having natural resources help the economy of a country? 
If a country has these, they don’t have to import them – saves them money. They can also trade their natural resources with other countries that need them.

24. How do entrepreneurs help increase a country’s GDP?
They create jobs, which help a country’s economy and GDP.
Match each item with the correct statement below.
	a.
	Economics
	f.
	communist state

	b.
	plantations
	g.
	Mixed Economy

	c.
	traditional economy
	h.
	human capital

	d.
	currency
	i.
	capital goods

	e.
	Command Economy
	j.
	market economy


___D_
1.
 A system of money.

____B
2.
large commercial farms that grow crops for sale 

____F
3.
strong government control of the society and the economy

____A
4.
the study of the production, distribution, and use of goods and services.

____C
5.
An economy based on customs and traditions

____E
6.
An economy where the government decides what goods are made and how they will be made.

____I 
7.
Any goods or equipment used by a business to produce other goods

____G   
8.
Economy with elements of traditional, command, and market economies.

____H 
9.
People that are needed to make an economy work.

____J 
10.
Economy where the government plays no role and people are free to exchange good and services without government regulation.

